

Page 1 of 1

#### Florida Department of Transportation



**Vendor Ranking** 

Call Order: 004

E1S06-R0

01181115 Letting: AM

November 15, 2018 11:00

Contract:

District 1 District:

Counties: DIST/ST-WIDE,

Fed Aid No: N/A

**HIGHLANDS** 

**Project(s):** 43272617242 (\*)

Contract Time: 365 AVAILABLE DAYS Contract Desc: Mowing, Litter Removal, Edging and Sweeping

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	T & M LAWN-FENCE SERVICE INC	Responsive	Winning bid	\$307,299.06	100.00%
2	FERROVIAL SERVICES INFRASTRUCTURE, INC	Responsive	Non-Winning Bid	\$331,341.23	107.82%
3	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$403,369.19	131.26%
4	M & M CONTRACTORS, INC.	Responsive	Non-Winning Bid	\$417,193.33	135.76%
5	CROPLAND SERVICES, INC.	Responsive	Non-Winning Bid	\$418,006.46	136.03%
6	COMPLETE HIGHWAY IMPROVEMENT IN	Responsive	Non-Winning Bid	\$573,916.02	186.76%
7	ALL SEASONS LANDSCAPE CONTRACTORS, INC.	Responsive	Non-Winning Bid	\$645,418.67	210.03%
8	LAWNS TODAY, LLC	Responsive	Non-Winning Bid	\$776,545.57	252.70%
9	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$872,677.30	283.98%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





#### **Tabulation of Bids**

Page 1 of 7

**Letting:** 01181115 November 15, 2018 **Call Order:** 004 **Contract:** E1S06-R0

District: District 1 Counties: DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS HIGHLANDS Project(s): 43272617242 (\*)

Contract Descr: Mowing, Litter Removal, Edging and Sweeping

The work under this Contract consists of Roadside Mowing, Litter Removal, Edging and Sweeping, and Chemical Vegetation Control.

Line No / Item ID Alternate Item Description	Quantity Units	(1) T & M LAV		(2) FERROVIA INFRASTRU		(3) ROGAR MA CONSULTING	OF FLORIDA
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	-C Ext Amount
SECTION: 0001 L	ARGE MACH	INE MOWING (AC)	)				
0005 E104 4 1 MOWING (REGULAR/LARG MACHINE)	7,713.790 GE AC	15.00000	115,706.85	3.07000	23,681.34	15.00000	115,706.85
0010 E104 4 2 MOWING (SLOPE)	320.250 AC	100.00000	32,025.00	38.84000	12,438.51	172.50000	55,243.13
0015 E104 4 3 MOWING (SMALL MACHINE)	42.600 AC	20.00000	852.00	38.84000	1,654.58	86.25000	3,674.25
0020 E104 4 4 MOWING (INTERMEDIATE MACHINE)	646.020 AC	30.00000	19,380.60	31.07000	20,071.84	57.50000	37,146.15
0025 E110 30 LITTER REMOVAL	16,220.600 AC	5.00000	81,103.00	12.80000	207,623.68	6.00000	97,323.60
0030 E110 32 1 EDGING AND SWEEPING	265.437 PM	30.00000	7,963.11	12.80000	3,397.59	86.25000	22,893.94
0035 E580337 8 HERBICIDE (MOWER APPLICATION)	2,010.740 AC	25.00000	50,268.50	31.07000	62,473.69	35.50000	71,381.27



11/29/2018

## **Tabulation of Bids**

Page 2 of 7

Letting:	01181115	November 15,	2018 <b>C</b> a	all Order: 004		Contract:	E1S06-R0	
Line No / It		ate Quantity Units	\ <b>,</b>	AWN-FENCE ICE INC	• •	IAL SERVICES UCTURE, INC	` '	MANAGEMENT & NG OF FLORIDA
() indicates i	tem is bid as Lump Su		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LLC Ext Amount
	SECTION: 0001 LARGE MACH 0001 LARGE MACHINE Section Totals: MOWING (AC)			INE MOWING (AC) \$307,299.06		\$331,341.23		\$403,369.19
	Contract	Grand Totals:		\$307,299.06		\$331,341.23		403,369.19



Page 3 of 7

# Florida Department of Transportation



### **Tabulation of Bids**

Letting: 01181115 November 15 2018 Call Order: 004 Contract: F1S06-R0

<b>Letting:</b> 01181115	November 15,	2018 <b>Ca</b> l	ll Order: 004		Contract:	E1S06-R0		
Line No / Item ID Alternate Quantity Item Description Units			(4) M & M CONTRACTORS, INC.		(5) CROPLAND SERVICES, INC.		(6) COMPLETE HIGHWAY IMPROVEMENT IN	
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001	LARGE MACH	INE MOWING (AC	)					
0005 E104 4 1  MOWING (REGULAR/LA MACHINE)	7,713.790 RGE AC	15.50000	119,563.75	19.00000	146,562.01	21.00000	161,989.59	
0010 E104 4 2 MOWING (SLOPE)	320.250 AC	90.00000	28,822.50	90.00000	28,822.50	140.00000	44,835.00	
0015 E104 4 3 MOWING (SMALL MACHINE)	42.600 AC	90.00000	3,834.00	50.40000	2,147.04	150.00000	6,390.00	
0020 E104 4 4 MOWING (INTERMEDIATE MACHIN	646.020 NE) AC	35.00000	22,610.70	25.00000	16,150.50	80.00000	51,681.60	
0025 E110 30 LITTER REMOVAL	16,220.600 AC	9.75000	158,150.85	9.00000	145,985.40	12.00000	194,647.20	
0030 E110 32 1 EDGING AND SWEEPING	265.437 PM	90.00000	23,889.33	30.00000	7,963.11	90.00000	23,889.33	
0035 E580337 8 HERBICIDE (MOWER APPLICATION	2,010.740 N) AC	30.00000	60,322.20	35.00000	70,375.90	45.00000	90,483.30	
0001 LARGE MACHINE S MOWING (AC)	Section Totals:	I	\$417,193.33		\$418,006.46		\$573,916.02	



11/29/2018

## **Tabulation of Bids**

Page 4 of 7

Letting:	01181115	November 15,	2018 <b>C</b>	all Order: 004		Contract:	E1S06-R0	
Line No / Item Item Description		te Quantity Units		ONTRACTORS, NC.		ND SERVICES, NC.		ETE HIGHWAY VEMENT IN
() indicates item	( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	Contract 0	Grand Totals:		\$417,193.33		\$418,006.46		573,916.02





## **Tabulation of Bids**

Page 5 of 7

Letting	<b>y:</b> 01181115	November 15, 2	2018 <b>Cal</b>	l Order: 004		Contract:	E1S06-R0	
	No / Item ID Alto Description	ernate Quantity Units	(7) ALL SI LANDSCAPE CO	ONTRACTORS,	(8) LAWNS T	ODAY, LLC		/ESTERN CTION, INC
	icates item is bid as Lump		Unit Price	C. Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	LARGE MACHI	NE MOWING (AC	)				
0005 MOWING MACHIN	`	7,713.790 R/LARGE AC	14.95000	115,321.16	11.00000	84,851.69	30.00000	231,413.70
0010 MOWING	E104 4 2 G (SLOPE)	320.250 AC	138.00000	44,194.50	18.00000	5,764.50	250.00000	80,062.50
0015 MOWING	E104 4 3 G (SMALL MACHINE)	42.600 AC	74.75000	3,184.35	15.00000	639.00	200.00000	8,520.00
0020 MOWING	E104 4 4 G (INTERMEDIATE MA	646.020 CHINE) AC	74.75000	48,290.00	12.00000	7,752.24	200.00000	129,204.00
0025 LITTER	E110 30 REMOVAL	16,220.600 AC	14.95000	242,497.97	40.00000	648,824.00	15.00000	243,309.00
0030 EDGING	E110 32 1 GAND SWEEPING	265.437 PM	287.50000	76,313.14	40.00000	10,617.48	300.00000	79,631.10
0035 HERBIC	E580337 8 IDE (MOWER APPLICA	2,010.740 ATION) AC	57.50000	115,617.55	9.00000	18,096.66	50.00000	100,537.00
	0001 LARGE MACHI MOWING (A			\$645,418.67		\$776,545.57 <sup>°</sup>		\$872,677.30



11/29/2018

## **Tabulation of Bids**

Page 6 of 7

Letting:	01181115	November 15,	2018 <b>C</b>	all Order: 004		Contract:	E1S06-R0	
Line No / Item		te Quantity Units	(7) ALL SEASONS LANDSCAPE CONTRACTORS,		(8) LAWNS TODAY, LLC		(9) MIDWESTERN CONSTRUCTION, INC	
() indicates item is bid as Lump Sum			Unit Price	NC. Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Contract Grand Totals:				\$645,418.67		\$776,545.57		872,677.30



11/29/2018

#### **Tabulation of Bids**

Page 7 of 7

**Letting:** 01181115 November 15, 2018 **Call Order:** 004 **Contract:** E1S06-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.